



Module 8.1 – Answer to Exercise 1





Specification of Entry Requirements



1.	Cross (x) should be opposite:  1.11, 1.12, and 1.18 as these include the probabilities of 100% and 95% already possessing these skills.  For the 5% remaining, plus any who don't fit this probability distribution, another module is provided.  A range of 5 to 15% of the total population will require this particular module.  All other subtasks will be taught in the regular modules.



2.	"Trainees who wish to enter this module should be able to perform the normal calculations of sum, difference, product, quotient, square and square root, with or without the aid of an electronic calculator.



3.	See the flowchart.  Any member of any of the population streams may need to take all lessons.  Therefore all lines go straight through.  However, some members of each population may be able to by-pass any or all of lesson 3, 4 and 5.  If any trainee could by-pass all lessons, then he is not a legitimate member of any of the populations.  This could be determined by giving the mastery test (not shown on this diagram) instead of T1.



4.	T1 is to check for the entry level.



	The mastery test of lesson 2, T2, is to check for knowledge of calculation of square roots and permits a by-pass of lesson 2.



	The mastery test of lesson 3, T3, is to check for knowledge of symbols and permits a by-pass of lesson 3.



	The mastery test of lesson 4, T4, is to check the knowledge of interpretation and construction of graphs and to permit a by-pass of lesson 4.



	The mastery test of lesson 5, T5, is to permit a by-pass of lesson 5 by those who already know how to calculate coefficients.
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Calculate correlations



Calculate:  +, -, x, �SYMBOL 184 \f "Symbol"�                                                x



Calculate squares                                                      x



Calculate deviations



Calculate square roots



Interpret algebraic symbols

(x, y, X, Y, �SYMBOL 229 \f "Symbol"�r      ,  ....

                      xy



Interpret graphs (linear -- 2 axes)



Construct graphs



Use pocket calculator                                               x
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